Q. P. Code: 11229

(3 Hours) (Tbtal Marks: 100)

N. B. 1. The question paper consists of three Sections.

2. Section | consists of forty (40) multiple choice objective type of questions (All
are Compulsory). '

3. In Section Hl, attempt any three (03) questions out of five (05).
4. In Section Ill, attempt any two (02) questions out of four (04).
5. Figures to the right indicate marks allotted.

SECTION | (40 x 1 = 40 marks)

For each of the statements below, choose the most appropriate alternative from (a) to

4.

(d) and rewrite the statement

Inclusive growth objective was introduced for the first time in which plan?
(a) 9% five year plan

(b) 10" five year plan

(c) 11" five year plan

(d) 12" five year plan

Jan-Dhan Yojana concerns
(a) Credit

{b) Tax payment

(c) Bank deposits

(d) Insurance premium

Devaluation, will improve the balance of payment deficit, if sum of elasticity of
exports and imports of the devaluing country is

(a) Greater than unity

{b) Lessthan one

(c) Equal to zero

(d) Negative

Giffen paradox occurs when income effect is

(a) Greater than the substitution effect

(b) Equal to the substitution effect

{c) Lessthan the substitution effect

(d) Negative and is greater than the substitution effect

According to Heckscher — Ohlin theorem, a nation will export a commodity which is
(a) Intensive in its relatively abundant factor

(b) Intensive in its relatively cheap factor

(c) All of the above

(d)" None of the above
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6. When nominal GDP is Rs.11000 crores and real GDP is Rs.10000 crores. GDP deflator is
(a) 9.09
(b) 9091
() 1.11
(d) 110

~

Which of the following states has the largest share in total food grain production in
India '
(a}) Punjab
(b) Uttar Pradesh
(c) Haryana
(d) Madhya Pradesh

8. Inthe famous equation M = P K Y, K stands for
(a) Fraction of real output held for transaction
(b) Fraction of money supply held by people
(c) Fraction of money value of output (transactions) held by public
(d) None of the above

9.  If linear consumption function passes through the origin it means
(a) APC>MPC
(b) APC<MPC
(c) APC=MPC
(d} APC=MPC=0

10. In the theory of investment decisions, the most appropriate rate of return is the one
which makes the '
(a) Net present value the maximum
(b) Gross present value the maximum
{(c) Net present value zero
(d) Gross present value zero

11. The concept of X-efficiency was formulated by
(a) H Singer
(b) H Leibenstein
(c) RRodan
(d) CKindleberger

12. Who suggested to Government of India to introduce expenditure.tax ?
(a) N Kalder '
(b) JR Hicks
{c) Ursula Hicks
{(d) B Hanson
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13. Which tax is solely imposed by the Government of India
(a) Sales tax
{b) Excise tax
{c) Custom duty
(d) Octroi duty

14. In 2014 Nobel prize in Economics was awarded to
(a) Lars Peter Hansen
{b) Jean Triole
(c) Alwin E Roth
(d) Paul Krugman

15. When a consumer is in equilibrium, MRS,y is 2.5, If the price of commodity Y is 16,
then what will be the price of commodity X?
(a) 40
(b) 6.4
{c) 23.2
(d) 24

16. Which of the conditions support long run equilibrium in monopolistic competition?
(a) MR=MC, AR =AC
(b) P=MC, AR = AC
(c) MR=MC=AR=AC
(d) AR=MC=AC

17. Accelerator is most closely related to
(a) Interest rate
{(b) Inventories
(c) Idle capacity
(d) Induced investment

18. The crowding out effect is zero when
(a) There is liquidity trap or investment is perfectly interest inelastic

(b) Money demand is perfectly interest elastic or investment is perfectly interest
elastic

(c). IS curve is falling and LM curve is rising
{(d) None of the above

19. High growth of which industry provides positive signal for industrial growth in future
(a) Capital goods industry
(b) Basic goods industry
(c) Durable consumer goods industry
(d) Intermediate goods industry
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Identify the method not being used for unempioyment‘estimation by the NSSO in
India ‘ '

(a) Current monthly status

(b) Current daily status

(c) Current weekly status

(d) Usual principal and subsidiary status

Given arithmetic mean = 45, mode = 48, median =?
(a) 49
(b) 46
(c) 48
(d) 45

According to Game theory, if increased advertising, raises costs more than revenues
and the profits of both firms decline, we have a

(a) Positive sum game

(b) Non zero sum game

(c) “Zero sum game

(d) Negative sum game

‘Bandwagon effect’ is found in
(a) Relative income hypothesis
(b) Permanent income hypothesis
(c) Life cycle hypothesis
(d) Absolute income hypothesis

A tax imposed upon monopoly profits
(a) Can be shifted forward
(b) Can be shifted backward
{(c) Can be shifted both backward and forward
(d) Can not be shifted

As per MSME Development Act 2006, medium enterprises are defined as those with

investments

26.

(a} <25 lakhs

(b) 25 lakhs to 5 crores
(c)- 5crores to 10 crores
(d) > 10crores

Average industrial growth rate during the 10% plan period was
(a) 5.3%
(b) 8.8%
(c) 10.2%
(d) 15.3%
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27. The cost incurred by the firm in hiring labour is called as
(a) Explicit cost
(b) Implicit cost
(c) Marginal cost
(d) Total cost

28. The locus of Pareto optimality in production and consumption is given by
(a) Social welfare function
(b) Utility possibility curve
(c) The transformation curve
{(d} The grand utility possibility curve

29. The premise, that benefit of economic growth will reach all sections of the population
 iscalled

(a) Trickle up effect

(b) Trickle down effect

(c) Takeoff effect

{d) Null and void effect

30. If the economy is operating at potential GDP, an increase in money supply will lead to
(a) Stagflation
(b) Structural inflation
(c) Demand side inflation
(d) Supply side inflation

31. Which of the following constitutes the intermediate layer in the three tier co-
operative credit structure?
{a) State co operative banks
_(b) Central co operative banks
(c) Primary agricultural credit societies
(d) -NABARD

32. The probability of getting a King in a draw from a pack of cards is
(a) 1/4 '
(b) 1/13
(c) 4/13
(d) 1/52

33. If two regression lines are perpendicular to each other, then
(a) r=0
(b) r=-1
(c) r=+1
(d) r>1

TURN OVER
3BB7988552D430087D4993C39A 230E5C



Q. P. Code: 11229

34.ICOR is
{(a) Increment in capital / increment in output
(b) Increment in output / increment in capital
(c) Increment in income / increment in consumption
(d) Increment in saving / increment in consumption

35. A consumer spends Rs.240 when the price of commodity is Rs.15 and Rs.300 when the
pricerises to Rs.20. Then the elasticity of demand is
(a) 2/3
(b) 1
(c) 3/20
(d) 1/30

36.

QUANTITY
In the above diagram, the consumer surplus is represented by area of ‘

(a) APCE:
(b) A APE
(c) AACE
(d) Rectangle OPEQ

37. Three coins are tossed simultaneously. What is the probability that they will fall two
heads and one tail?
(a) 1/2
(b) 1/4
(c) 3/4
(d) 3/8
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38. Fiscal deficit less interest payment is called
(a) Net fiscal deficit
(b} Monetised deficit
(c) Primary deficit
(d) Budgetary deficit
39. The current cash reserve ratio (CRR) is
(a) 5% '
(b} 6%
(c) 6.75%
(d) 4%
40. “An enquiry into the nature and causes of wealth of nations,” is a book by
(a) Marshall
(b) J M Keynes
(c) Adam Smith
(d} AKSen

Qll Attempt any Three questions out of Five { 3 x 10 = 30 marks)
1 Explain the production possibility frontier and the shifting of PPC.
2.  Whatare the various sources of market failure?
3. Explain the theory of attributes (characteristic theory of consumer behavior).

4. Explain income effect.

5. Discuss the various properties of isoquants.

Qlil  Attempt any Two questions out of Three. (2 x 15 =30 marks)
1. Explain collusive and non collusive oligopoly.
2. Analyse the strategic decisions using game theory.
3. Discuss the nature and scope of business Economics.

4, What is research? Explain the process of research in detail.
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&. gl YTl GDP Il T %000/~ MV STEdS GDP 0,000 1] T 378, de&T GDP
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3%. |1 F=d CRR IR,

) u% o) &%

%) &.04% g) %%
¥0. “An enquiry into the nature and causes of wealth of nations.” @ RIGED RIE]

3TR.
31) A §) 9.0, 5"
%) 3feH oy T) Wh.EA
T - R (3 x 10 = 30)
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¥) Icqd UNUIH TI5C .

b)) HYICUTE kAT TUIAfesaa=h ==t .

fovmT - 3 (2 x 15 = 30)
HUAE S T I e
2) STCUTIhIId I H-HG VT 3TETEHA (Collusive and non collusive) TI5 .
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3) ST SN L&Y o SATH T8¢ .
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3BB7988552D430087D4993C39A 230E5C





